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D. Segment Intersections
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int main

int t=read_int();
t--

LL
n=read int(),k=read int(),ll=read int(),rl=read int(),12=read int(),r2=read
_int(),ans=1el0;

LL tot=max(rl,r2)-min(11,12),d=max(11,12)-min(rl,r2);

_rep(i,1,n

tot*i>=k
ans=min(ans,d*i+k) ;

ans=min(ans, (tot+d) *i+(k-tot*i)*2);

ans=max(ans,OLL) ;
enter(ans);
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int main

int t=read int();
t--
LL
n=read int(),k=read int(),l1l=read int(),rl=read int(),12=read int(),r2=read
_int();
11>12
swap(11,12),swap(rl,r2);
ri>=r2
k-=n*(r2-12);
ri-=(r2-12);
r2=12;
swap(rl,r2);

ri>=12
k-=n*(rl-12);
swap(rl,12);
r2-=12-ri;
12=r1;

k<=
puts("0");

’

int cost=2*(12-rl1),d=12-r1,lenl=r1-11,len2=r2-12;
lenl+len2+d==
enter(k*2);

’

k>=n*(lenl+len2+d
k-=n*(1lenl+len2+d) ;
enter(n*(lenl+len2+cost)+2*k) ;

’

int ks=k/(lenl+len2+d);
k%=(lenl+len2+d) ;

ks>
enter(ks*(lenl+len2+cost)+min(2*k,d+k) ) ;

enter(d+k) ;
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